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SCIENCE
Full Marks — 80
Pass Marks — 20
Time : Three hours
Answer all questions.

The figures in the right hand margin indicate full marks for the questions.

SECTION - A
CHEMISTRY
(Marks — 26)

Answer Question Nos. 1 to 4 in one sentence each.

)// Citing an example.define neutralisation reaction. 1
SR g A enivee Rasw Tl ot |
2. How is Plaster of Paris obtained from gypsum ? 1

e 2r% 9 eifds N TN ?

3. Anelementary grey solid element ‘x’ is found to be a good conductor of
electricity. But it possess a dull surface, is brittle and is not ductile. Is x
a metal or a non-metal ? _ 1

T Wofe SR X' TR Coes WS RAReS I ST COF @6 | A LA
o 2 T, W AR W Teike @Xu | X' Wi oNbe o Hewl 71 oo 7 ?
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Write the structure of 2-Methyl but-1-ene. 1
2-Methyl but-1-ene M %53 23
Answer Question Nos. 5 to 8 in about 30 words each.

Why do ionic compounds (i) possess crystalline structure and (ii) have
high melting and boiling points ? 2

RN zefie FenewRe (i) FEa Jess effun sy (i) cmrsen
OB WP G CharTasa el 2

What is an alloy ? Give the composition of brass. 2

TR AR S ? AiEA s 3

Draw a neat labelled diagram to illustrate that metals are good conductors
of heat. 2

e RIS CapT e T (BT SR AT Seen yrme o i cugetn s oS )

What happens when an excess of carbon dioxide gas is passed through
a saturated solution of sodium chloride containing dissolved ammonia
gas ? Give the balanced chemical equation. 2

AU PUZEA GTHTATHS CHIGA GIRAIEG CTEpT™l SIam GrRsaze Afaew @i
CARBATHY CAR A et Ty [

Answer Question Nos. 9 to 11 in about 50 words sach.

Explain the fact that HCI changes the colour of blue litmus paper to red
only in the presence of water but not in the dry state. 3

5fr mewar HC| 77 «fie @ A snecawe spge e memn o HC| =i
SR AT (W13 FEALT MTHD SIS |
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10.

(8

12.

13.
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Identify the type of each reactions : 3
Ruzm P e a1 ¢

(i) C(s)+2H,(g) — CH,(9)
(i) CaCO,(s) —2— CaO(s)+ CO,(g)
(iii) 2Agi(s) —1e, 2Ag(s) + 1,(s)

Define functional groups of organic compounds. What are the components
of a complete name of an organic compound ? Write the name of the

compaound CHS-(IjH-CHO. 3

Cl
s4fifirs @ow qNAl FENeE o RGN e A1 e | 8l I SR

avpe o Afle SA e (coese) g R FRiT?
CH, -CH- CHO TR w=rsw il afie J1
I
Cl
Answer Questicn No. 12 in about 100 words.

What is the basis for classification of elements in the modern periodic
table ? Describe the essential features of the modern periodi¢dable.
1+4=5

cred (fRefe Bea gEen wy s ? ared cafefe Bl sk e
TEE FeNy (SaRfhe) TR SR

SECTION-BE
PHYSICS
(Marks — 26)

Answer Question Nos. 13 to 16 in one sentence each
Define solar constant at a place. 1
TEL SN TR FIACOD IR I TR |
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15.-

17

19
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Define potential difference between two points in an electric circuit. 1
ST SgRD N (AT SR NS LA CAACh e fewram sy (FaTst 7y |
Why is the sun visible a few minutes before actual sunrise ? 1
e @il seern carefite G g s S weeRi sRimon 2

360 C of electric charge flows through a conductor in 15 minutes at a
uniform rate.-Find the current in amperes. 1

wega owgl {iHD 15 M wmen 360 C F o =y o1 oo (681 1 @uAwam S =g
ALLTFEN

Answer Question Nos. 17 to 20 in about 30 words each.
Give lwo properties of magnetic lines of force. 2
crcaillin oo aw cenl ) wga o )

In household electric circuils, parallel combination (of electrical devices)
is preforrad. Give two arguments in support. 2
23 ey A LA e s paffen (S italhiz) contacae Wt ANea | WGy cReresn
st o=l #ly o

Tho realimage formed by a convex lens of focal length 20 cm is magnified

four times. Find the position of the object. 2

20 GILa (e CAHal IAcsHl o ol el e SR s sfE sreca@s |
aauel wl Corp ofree | ‘

. Eloctrical resistivity of nichrome is 100 X 10~® om. Calculate the

resislance of a nichrome wire 110 cm long and 0.5 mm diameter. 2

ArcarEn weealfora GRS «ii 100 x 107° am f1 110 cm =i 0.5 mm
Gt ata ateame amad) falEcEs A |
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Answer Question Nos. 21 to 23 in about 50 words each. SECTION-C

BIOLOGY
21. Name two non-conventional sources of energy. Name the forms of (Marks — 28)
energy possessed by them used o get electricity. Name the devices
used for the same. 3 Answer Question Nos. 25 to 28 in one sentence each.
TA-SACSPICAE ZA G (Few) Sal 25| RS spareem Aifmar s 25. What is a reflex action ? L
e it wesfisg 271 wFm Midafar Avsfee 20 A aw Bl IR0
22. Acurrent carrying solenoid can be compared to a bar magnet. Give any 26. Mention one function.of calyx and corolla. 1
two corresponding points. The field lines inside a solenoid are parallel. . EO— |
What can be said about the nature of the field there ? 3 GRS R GRS
. 27. Write the definition of trophic level. 1
PG~ GRS S A O s SIS R | B Bl 9 S g | |
ARSI el frem SRR W CoCaTerer ST | N Lo Rrom s G oS! P R 3 |
IR I e 28. IlUstrate one advantage of asexual reproduction over sexual reproduction.
\ 1
23. Draw a ray diagram to show the formation of image of an object (of finite '
size) by a concave mirror when the object is at some distance beyond T Ram eryore farEam N TR THIFR W T |
its centre of curvature. Where and how big is the image ? 1+2=3 Answer Question Nos. 29 to 33 in about 50 words each.
TS PO S WA CTOY GF FLSHAN FRe AT A ST (ST 29. State two henefits of zero garbage campaign at the capital city of Manipur
ST o) WA AR ory Bot YTHT O GRS | G WG S O SR 2
A HRER? TR cafPitem smefER e s TR Fwa S 2% |
Answer Question No. 24 in about 100 words. 30. Describe two significant differences between a pea seed and a maizs

seed. 2
24. Draw a diagram to show the important parts of an AC generator.

F SIS AN A W CUTRT AT TS
Describe briefly the construction and working of the same. 1+4=5 IR S R T T il Ral '

31. Draw a diagram of an open stornata as seen under the microscope anc

- AC wrba Sl E ? ST 1 YR S (R | 35Y R S 47 label guard cells and chloroplast. 2

CORY s XY |
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32.

33

34.

35.
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TECGITEAS! T QBT RO IS S CRatall SIaG CFaimie sl Caneargs
THTICAT SRR W 2413 | .

The undigested proteins from the stomach are digested inside the small
intestine. Analyze the statement by giving two reasons. 2

BIE1GH] TAwAl CHTOATEY CaIe JrTwniza e | e S P werd aicam s
61 HIB] T |

The construction of big dams is a key factor for the change in the
regional environment. Still India has large number of such dams. Write
two points to justify in Indian scenario. 2

SICBRT N SR NP WA @3 WA Grod (CRAAHal WRaZAl Wi S
@3 | oI SRe ShE T P (Al | SRod! O3 cestie wift pl aned e
A %

Answer Question Nos. 34 to 36 in about 50 words each.

What is dihybrid cross ? Define the law of inheritance derived from this
cross. Write the phenotypic ratio of F,, generation in dihybrid cross. 3

FIBRNET (DT ZIHAPT BTN Pt SR SXEAT BICERT STHRT LS G
o 2% | WEEEE @ F, W edmal GitkA ereP @ite 2y

How adrenaline facilitate the animal body to face with hard situation ?
Give three points. 3

AT @A (I Teokm T en g wemEeal (AR CIAH? CHIRD
g Ay |

Contd.

36.

37.

Explain three evidences to demonstrate the occurrence of organic
ovolution in nature. 3

ACHHA Rl o 2TSEPTE (AR ZRRAT Y SrEATe SN GO BRRG |
Answer Question No. 37 in about 100 words.

Aparl from commercial value, forest provides many.useful services.
Explain any five such services. 5

Gaeat oipg-l %m0 9 e ARG IERFSN TS Sre WA =0 SR At
et e weme “o ¥ |
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